11-14
Prescribed by Secretary of State
Section 67.004, Texas Election Code

9/2023
CANVASS OF GENERAL ELECTION
I, Michelle Whorton X Elections Administrator
(name) (office)

of g , Texas, met with the Titus County Commissioners Court

(political subdivision holding election) (body acting as canvassing board)
sitting as the canvassing board to canvass the general election of _November 5 ,20_24
on November 18 ,20_24  at Mount Pleasant Texas.

I certify that the figures on the tally sheets correspond with the figures on the returns.

Witness my hand this / J? day of /Z///V//ﬂl'écﬂ/ ,20 ZL%

LAY Lot

P{esiding Officer of Canvassing Authority
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